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Twierdzenie (Wartosci absolutnych statych Harbourne'a)

Dla 2 > d > 31 mamy

d H(d)

2 0

3 )

4 —4/3 ~ —1.333
5 -3/2 = -15
6 | —12/7 ~ —1.714
7 -2

8 -2

9 —9/4 = —2.25
10 | —29/12 ~ —2.416
11 | —33/13 ~ —2.538
12 | —36/13 ~ —2.769
13 -3

d H(d)
d H(d) 22 | —108/29 ~ —3.724
14 | —54/19 ~ —2.842 || 23 | —115/30 ~ —3.833
15 -3 24 —4
16 —16/5 = —3.2 25 | —125/30 ~ —4.166
17 | —67/20 = —3.35 26 —129/30 = 4.3
18 | —24/7 ~ —3.428 27 | —135/31 ~ —4.354
19 | —76/21 ~ —3.619 || 28 | —140/31 ~ —4.516
20 | —80/21 ~ —3.809 || 20 | —145/31 ~ —4.677
21 —4 30 | —150/31 ~ —4.838
31 —5
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